N = 0 &8 AFH Y & A AN
20229 & 20l & LBHSIH MR
= S R=n
M st (detzsad/ g - HEXH)
ool XN Za EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
KNI 1t 533,703 615,347 A81,644
=2 50,056
Al 483,647
NFMIAL (Lt SHY /ALY - HE X)) 500,803 591,297 AN 90,494
= 50,056
Al 450,747
XA &= 274,325 298,666 N 24,341
HAIXIEASAH MDD 29 11,627 10,350 1,277
101 @121l 2,047 1,890 157
04 JI2ZtH2Z2XNEE S 2,047 1,890 157
OXNLALSEAMA MIDE20] 2,047
o=0 73,280 * 26 1,906
o =4l 60,0003 60
o uwEH| 30,000& 30
oLBMIEEREZ 1,906,000& * 2.65% 51
201 L2 Y| 9,580 8,460 1,120
01 At 22l Yl 1,830 2,960 A 1,130
OXNEASH AMDIYREA M
55,000& = 10&8fA 550
OXNLASAH MR EES M
50,000& * 1000 = 23l 1,000
OZgly iz 140,000& * 2CH 280
02 3524t 7,750 5,500 2,250
O=ANSHY HEIIHL MNEE 5,500,000 5,500
OAIEIUHE RER=2 500& * 4,50021 2,250
TH 2RES 35,720 22,252 13,468
201 LEt2 Y| 15,420 12,994 2,426
01 At 22l Yl 10,140 7,714 2,426
OYMXAe & SA2ZAIH M &
150,000& * 69 900
OUtS MR A &8 M 300,000& 300
O=SAP(2IA) AdXtE 132,000& = 12& 1,584
OZ2&II(DXAN) X2 198,000& * 12& 2,376
OXNYgM 20X AM ME 550003 * 368FA 1,980
OXNEMY X2 50,000& * 20 1,000
OXNLAMNE HX72Y 100,000& * 20& 2,000
02 332494l 5,280 5,280 0
OnsZely KA 440,000& = 12& 5,280
207 1R 2yl 11,000 0 11,000
02 & AFJH EHH| 11,000 0 11,000
oge s sz AAE 25 11,000,000& 11,000
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R RDES XH%Q (2erz 3

02

H/XNLHA - W)

ol XA Fa (ol @)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 LEHZ 3,220 3,000 220
12243 3,220 3,000 220
OHAEAMNIA BSKNsSE e &43Fd 7¢
30,0003 = 50H =« 23| 3,000
OO0Jt= BISMSAL =2 110,000& = 23] 220
306 43 6,080 6,258 A178
01 &3 6,080 6,258 A178
Ost=X&ANHALH EAHS
50,662,985,000& * 1.2/10,000 6,080
AM 20 22,125 24,325 A2,200
201 LBH2E | 16,625 18,825 A2,200
01 At 22l 16,625 18,825 A 2,200
OAMSZel8l (20"t 1,500,000 1,500
OAMZZH (RIS ASA) 2,000,000& 2,000
OXNEAMN MM M= 55000 = 1758FA 9,625
OXZgHotH EE28 ME(2ESH)
650& = 2,0000H 1,300
OXNZHMERtH EEE HME(EHIHE)
55,000& = 8J * 53| 2,200
202 o4l 5,500 5,500 0
01 = LH o4 1l 5,500 5,500 0
O3 (RE D) 3,500,000& 3,500
OZUHABI(KYASA)
20,0003 = 2H = 50 2,000
NedMEzz20d 29 143,409 185,701 AN42,292
308 XtXIEHH SOl A 47,952 185,701 A137,749
M 3IN2SUHUE3 LS A 47,952 185,701 A137,749
OUNSEANLE X224 942,000& 942
OXNN XNLANEEAAE XL 4|
1,755,000& 1,755
OSEXNYAM F2AAE S22
22,257 ,000& 22,257
OEZENYMEZ Y XL +H|
22,998,000& 22,998
403 UtXSHHSA=0l& 95,457 0 95,457
02 SO 2SOCHsH A2 X 2 A I 95,457 0 95,457
OXMO XNLNMEEAAH 2=
95,457,000 95,457
MM &= 61,444 56,038 5,406
201 £B-2d| 43,444 41,038 2,406
01 At 22l 22,250 19,950 2,300
OAMS22l8l (A=) 1,200,000& 1,200
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PSS (LU SSRE /LY - HEXE)

HEPNR- L IESES

5 - 4
BB - Sl (31) - NRAY - BES e
OXEHIIxs BE+=+2 412,5008 * 128 4,950
OLEYE 20U SUNLES(NS) A=
150,000& * 12& 1,800
OYYE BLAH 20ZE +48
50& = 10,000A 500
OXEA MEDXNM & HUHZ2 M
55,000& * 60&tA 3,300
OXNEAH HEH SREE=S M
50,000& * 1004 500
OMEXdE ==& 10,000, 000& 10,000
02 =224l 21,194 21,088
OHsEHIXXE RAYI 150,000& * 12& 1,800
OZYAMF 0l0IX &2 AMAE SXE=
330,000& * 43 1,320
OXNLMEREsA(LES)AAE FAESH|
2,868,500& * 43| 11,474
OMEXEER SAUAAMNAIAHE KX 4l
1,650,000 =+ 43| 6,600
202 oddl 5,000 ,000
01 = LH o4 1l 5,000 ,000
O3UoE(ZAME ™ =2) 3,000,000 3,000
O=3UoEI (& =) 2,000,000& 2,000
303 Z&f 3 13,000 10,000 3,000
01 243 13,000 10,000 3,000
OMgHE> &S 13,000, 000& 13,000
WMIE BOE & EA 107,912 108,012 A 100
= 50,056
Al 57,856
OHE FEIFA T A 100,112 100, 112 0
= 50,056
Al 50,056
201 L2l 92,912 92,912 0
= 46,456
Al 46,456
01 At 22l 89,112 89,112 0
OMNEFEIIA S8
5,820& * 11,500 66,930
= 33,465
Al 33,465
OME =t 01oME AE242
7,2723 « 2754 2,000
= 1,000
Al 1,000
OMg = 2 2= M 2,000,000& 2,000
= 1,000
Al 1,000
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M UFTHIASHZ (LSS /NLHY - HEX)
=1
=

fU o
08
M

EH2| 0 AR =1 Ak (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OMNg =& = M 4,000,000& 4,000
= 2,000
Al 2,000
ODIBAl BSFIIA #8222
3,000,000& 3,000
= 1,500
Al 1,500
ORSHNIIAS BH2Y
70,000 * 129 « 23| 1,680
= 840
Al 840
OAIEZ2ldl (HE =e4D1A) 9,502,000& 9,502
= 4,751
Al 4,751
02 2224 H| 3,800 3,800 0]
OdZz N SAE4H| 950,000 = 43| 3,800
= 1,900
Al 1,900
202 o4 | 7,200 7,200 0
= 3,600
Al 3,600
01 2L Y| 7,200 7,200 0
OMHE FEHIIA & K| XA}
20,000 * 4% » 90 7,200
= 3,600
Al 3,600
@2 24 gz 7,800 7,900 A 100
201 et | 4,300 2,900 1,400
01 AP 2t 2] d| 4,300 2,900 1,400
OALS2 22|l (HSR XA 1,500,000 1,500
OXEMHA/ARS] =
70,000& * 10Y = 43| 2,800
202 044 3,500 5,000 A 1,500
01 2Ll 3,500 5,000 A 1,500
OZ2LHHHI (MR XA 1,500,000 1,500
O SHEZA sHWYI 2,000,000& 2,000
Mo+ S0 84,166 150,219 A 66,053
M4 HMgH A 37,544 105,501 NB7,957
201 2t Ay 4,350 4,350 0
01 AP 22| d| 4,350 4,350 0
OAMBE2IHI (MR L) 1,000,000 1,000
OMR+=L DA 2 55,0008 = 308fA 1,650
ON2=+ =22 50,000& = 700 = 23] 700
ONMgXdEE=rE 1,000, 000& 1,000
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A GRS (LHIDHT/NLHE - HER)
Sel: Melae B0 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 o4 | 2,000 2,000 0
01 2L I 2,000 2,000 0
OZLHH -l (2L dl) 1,000,000 1,000
OZ2LHoHI (22 0dH]) 1,000, 000& 1,000
303 A2 7,000 7,000 0]
01 ZAaZ2 7,000 7,000 0
ON24+=da 4 LaAZ 7,000,000& 7,000
308 XAHXIGH SO0l & 24,194 24,374 A 180
11 2I|2SHUSHEAXERAEASH] 24,194 24 374 A 180
OE=XNZAMAL HESHAI ]
24,194,000 24,194
Mol 2 22| 46,622 44,718 1,904
201 LBt ]| 43,822 42,718 1,104
01 AP 22| H| 17,302 16,797 505
OJMAHAZX =2 80¥ = 105,000H 8,400
OJIRAARRE EAxG 70,000& = 59 350
OEs) dx=2 198,000 = 128 * 204 4,752
OAIRZ2IH (MR E) 1,700,000& 1,700
ON2£+ ASIHE =2 80& * 7,000 560
OXYAMH MEIIE =& 80& * 11,0004 880
Otz etlie HZ 55,000 = 128fA 660
02 22244l 26,520 25,921 599
OJPAHE =2 HeIAAE S 2 2H|
2,155,000& = 43| 8,620
ONY S AZ2IIELEANAY SR B4
1,491,666 * 12& 17,900
202 04| 2,800 2,000 800
01 2L HI 2,800 2,000 800
OZUHHHI (M2 A) 20,000 *= 78 = 203 2,800
AME ZTQAM AR=X(HSI) 34,400 34,400 0
AMZHAIYE HAL2=X(2AM)(H2D) 2,000 2,000 0
203 € R F & 2,000 2,000 0
03 AIEH =X 2 F X Y| 2,000 2,000 0
OANBAL2=KH|(EA) 2,000,000& 2,000
ELH2XN S (HMR) 32,400 32,400 0
204 2242 H| 32,400 32,400 0
03 SEHYRAH| 32,400 32,400 0
OSHURsBSY|
100,000& * 27 = 12&€ 32,400
HEMSHAH| (M) (IIEH/IIE) 32,900 24,050 8,850




2N N2
HH: HH2IHH (M) (JIEH/DIEH

¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

Jl= &l 32,900 24,050 8,850

Jl=dl 32,900 24,050 8,850

201 Let24d] 15,100 15,250 A 150

01 At 22/l 14,800 14,800 0
O= &l 6,300,000 6,300
ORA2Y A2t 8,500,000 8,500

02 2324l 300 450 A 150
ORN2YE 2329l 300,000 300

202 Oddl 13,000 4,000 9,000

01 = LH 4 Hi 13,000 4,000 9,000
FN2E IO 13,000, 000& 13,000

203 ¢ R E A Y| 4,800 4,800 0

04 RNSIYRETY 4,800 4,800 0
ORANE2Y R4 400,000& = 123 4,800




